THISEE mBAELE—E

oo 1 ES £ 57 i HHW|ER g7z §
rE—D7RF—I % H%AKX£4t BHI-2ET-ZREST-2RIZEHT] 2 2

IWEFRETE #HhXSut BHEETS L TAGEIS EATEY T —ATE RS IHE 1 1

NPV R A —PE—T4J%# AT [EMA+EFREOE/ SUEB@WE £EETES) 1 1 2

N=HVZXBEH st BEMHMOBE- A TR 1 1

#X £t SYNAX HEHE 1 1
HMAESHHIFYITIVTR AT (REHELROHE 1 1
JREFHEY—EX B WMAXE [BEEROBRE-AVTFUR 1 1 2

¥4 TUH BT 1 1 2

Fob/ERTE #HAE4u RER 1 1

kXS4t ARSI RT MBIy 7V B EE) 1 1

et BT EHREEME 2 2

T ERMASH FEREEAS WATH [REREFTN\I1REE) 1 1

FEMENLYY XSt HEBELERTE) 1 1

WEAHR A&t BMREE 1 1

. Bt h1P03— EEXRD EERMEBONS SERTRE MT| 1 1
; BREt N—E—uPILITIL [ 2RIBRAINL—4 1 1
4 AR DMMRRER BRER 1 1
3 TEMERBASAE IR (SR 1 1
% %A BIF/NILD WER FiiE 1 1
H#AEH T—TATVD IVOZF 1 1

HBAst & RERFERE) EHEE (Y—ER) 1 1

IOt A RS HXEH RN <01 ) 1 1

HAEH LIBESF BRIEL 1 1

¥4t yoa— RTB@EILANIAREEROSHEE) | 1

EF 4% [ e Rt ) A RL—4 1 1

- HXEt 1—h EHFAH CAFLIVC=F 1 1
HRXEt YIMMUTYH ERERVEESRSSOME-mT| 1 1

BAESH N—F=9H - FSA4T -V XATLX | EERREGREMN T - #157) 2 2

et FXSAEEER EERBRS 1 1

2RI L AR BREBOEE - ATFUR 1 1

%2 0g ARatt TLY—IFI—)L HREER (I SRR T M) 2 2

= BXEHt N—F=vH-IA(T« BE SN T - 15T 1 1
REHFARZBEEIEGAELH FebeR 1 1
BAEHHEAS4H I - BT (ERED 1 1
BR7zA—IkXEt RHIE  |[8E 1 1

ol AIEHITE B4t S BB 1 1
9 EF 34 H#AE TFTY0 BERUEMEE 1 1
& BRXEHF—IRVIEFRIE EE (R Bl () 2 2
NFY=wokAE SREE 1 1
REXRESEHASH IU7H 1 1

—BHEEN PHERRRHS RERMTH 1 1

B“BASt BEET HATR(ENER) 1 1

%%Fﬁ-ltﬁ B®BASH —FTvy BRI 1 1

=} 16% FEEL KAt Bt AT RE T 4L X — P - LA EPD) 1 1
& FHEHNT=T )y ES4 5 TR 5 5
2 BASHNTTEEHA—EE# BEREEIVC=T 1 1
6 HF T4V IS e AiThs (BRET. B TRM) 1 1
% E—RBBI1E Koot BIEEEE QB EBXEEN)| 1 1
Sx—THR— TR —E AR St |Bifr—E X8 1 1
OKIZORTYIHMA R4 BR/ERBEIY -7 (BIEE) 1 1

KRR 3% [EREHI=Z2—TINNT— HALSH|KNIRE-RORBEE 1 1
BREANT—HUvFKkKEt BAREEFEME EBHE) 1 1

#sHt 710 BEeR (T1 VB EFRE) 1 1

FE 148 |HXSHBEIELIRTL BEfXZH |[Dr—IkIoT=7 1 1

BE 34 =ETERELTI/H—ER #HAEH BBXH| T —ILE-IOOZF 1 1 2

o TE5 HARG BRATGRE - T ER) TER 1 1

o BR 14 [#AXH&ER BER 1 1
I T EWEBREE) i i
R I T — B (BL) s | 2 5
EN-BERNDOEE 31 12 9 52

" EN(EEREINEN) DEHREEEET) 2 10 4 16
= | BN EERENRN) OEH(DABEEFT) 2 6 2 10
N (AEEEEY) 35 | 28 15 | 78
BERN-NEEt 39 30 16 85

—RNEHE(RM) 885% (69BNTE.78%ZE) 10A11BHERE
RERATERRRM) 100% $H3E11 H18 B (REICE2MBALEE)184




